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1) Calculate the molality of 25.0 grams of KBr dissolved in 750.0 mL pure water.
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2) 80.0 grams of glucose (C¢H 1206, mol. wt = 180. g/mol) is dissolved in1.00 kg of water. Calculate the
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3) Calcuate the molahty when 75.0 grams of MgCl, is d1ssolved in 500.0 g of solvent.
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4) 100.0 grams of sucrose (C12H22011, mol. wt. =342.3 g/mol) is dissolved in 1.50 L of water. What is-the
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S) 49.8 grams of K1 is dissolved in 1.00 kg of solvent. What is the molality?
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6) What is the molality of a solution conm%ag of 45g of MgCl, dissolved in 620g of H,O?
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7) What is the mole fraction of ethanol in a solution made of 92g of C,HsOH and 144g of H,O? __@L‘i‘iﬂf—@
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8) What is the mole fraction of H,O in question #77 W
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9) What is the mass percent of ethanol in question #7?
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10a. How many moles of solute are contamed in 343 grams of a 23% aqueous solution of MgCr,07?
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10b.How many grams of solute are contained in the solut1on of question 10a?
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10c. How many grams of water (the solvent) are contained in the solution of question 10a?
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10e. How many Cr atoms are contained in the solution of question 10a?
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11a. The density of a of NaClis 2.16 g/mL. What d be required to

prepare 45L of this solution?
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11b. How many molecules of solute are contamed in the solution of question 11a?
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' 12a. Specific gravity of a 33% (NH4)2SO, solution is 1.1. What mass o@f(NH4)2SO4 would be required to
201mL of this solution? _ /w?—ya
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12b. How many moles of solute are contained in the sol‘&hon g}( estion 12a? 2093 W( 29 9}”
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